R DONFIT 2 HIH

2w & 5 5041000246 T.EAE R TATH AFLERH )7 K — R4 KL
14 4 B2 I TFARENEMETSH (4—21)
F

e KEFRAT X LR 4 T5%&1 75
BHKID

e I |
Ao pEEREEE BT R

) 9 H A A4412H27H

T b1 Sf AF12A27HMMS SFf 54 3H18HET

2K & # 11,501,600 1§ (5 HEGHIFR 2 IHEBIAESE 1,045,600 1)

T %= &% B rE X B & FEE 0 3 AT

(P DXHF 2 . BEILE BRRCHRBETSR B & SR A ET)

NEMET ¢300mm—¢ 50 0mm 1 4 )57
WHfifET 0600X1,500mm—[11,300X%X1,500mm 1 32

T F Y % W FABEY—E R & —




R DONFIT 2 HIH

2o & B 5041000251 T HFE R Fbi o BB T AFLEK R — B4 AAL
14 pa FEHET 3 9 B~ R — LR R A LE (MR R
% PR ESR AL G T 3 6 b 1
BRI
(e I I
A REmuEE mE T
) | H AF O 4412H20H
T b1 Sf AF12A20H»s Sf 64 3H15HET
oK & % 15,356,000 1 (5 BEBIITAR A TH B gas% 1, 396, 000 )
L %= 8B PR K2R 1 3%
< VIR — VR TR o L — 3K
<R VR T EBEREEESLE K
T = # =
T = 81 4 5 W FABEY—E R & —
i £




R DONFIT 2 HIH

A S =2 5041000253 TR HidE T AFLEK R — B4 AAL
14 £ BEER 1 THEEKAEIE LF
% KRG 1 2 8 3 1
BHID
BFS e | rmm
Aol ok B Rz
) | H AF 4412H26H
T b1 Sf AF12HA26HMmL SFf 54 5H5H31HET
oK & % 18,593,300 (9 BEBICfR D THEPLEES 1, 690, 300 1)
T %= &% B XEEE 1 THA
T AT 7 NEEET t=10cm A= 207m?2
T AT 7 NEEET t= 5cm A=2, 904m?2
TAZ7/VMHETGEAE) t=10cm A= 12m2
BAMET 27 7 v ML T t= 5cm A= 56m2
a7 U — M T t=10cm A= 15m2
ZoMmE T —X
T % % =
T = 81 4 5 KEV—ERELZ—
i =




R DONFIT 2 HIH

2o & B 5041000254 T HFE R HigE T AFLEK R — B4 AAL
14 4 SRAENT 3 TIE G E A IH T8
% KRR KA AIT 2 T 2 3% 1 5
BHID
L I N R
A REmUEE AW HE
) | H A 4412H16H
T b1 Sf A4 12HA16HM”S HFf1 5% 5H5H31HET
oK & % 15,002,900 [ (5 BLEE|ICR D 1Y Pikass: 1, 363,900 )
T %= &% PR EFERT 3 T1E M
TATZ77)VEEET t=9cm A= 7 3m?2
TATZ 7V RNEET t=5cm A=2, 492m?2
ZoOMmE T —X
T = # =
T = 81 4 5 KEV—ERELZ—
i =




R DONFIT 2 HIH

A S =2 5041000255 TR HidE T AFLEK R — B4 AAL
14 4 IETF T E N B A IH T3
T | KB A 10 76— 1—1-D
BHKID
BT & | HARUKA
Ao fkE#E AT
) | H AF 4412H15H
T b1 S AF12AH15H»L Ff1 54 6H30HET
B8 & % 20,871,400 [ (5 HLESITIR D W PLAELE 1,897,400 M)
T %= &% P TE XS5 e BTIE D 2 AT
(VG K dep o], H/AEFET, #pEFET)
T AT )L NS T t= 8cm A=519m?2
T AT )L N T t= 5cm A=2, 850m?2
TATZ 7V MET HEE t= 5cm A=5m2
Z DO T :
T % % =
T = 81 4 5 KEV—ERELZ—
i =




R DONFIT 2 HIH

2o & B 5041000259 TR KB % T2 AFLEK R — B4 AL
14 4 KIE B KB R L
T | Kirps i< ARATT 4 T5 51— 5
BHKID
e I I e
Ao REmuEE RO EIL

) | H A 4412H19H
T b1 S A1 2HA19H»L FFf1 54 6H30HET
oK & % 90,142,800 [ (5 BLEBIZHR 2 I E PiAESS 8, 194, 800 )
T %= &% P EFE X KIIED 1 20T

CERXKRIFIED . IERE)

BlAKEMHBAL ¢ 75 BAARYI=ZFL L% L=26. 67m

BLKEMEL ¢75—300 FIHZANEEHE 1L=233. 41m

Blk&HWET ¢75—500 L=456. 95m

REEAHFR T 650 L=24m

A% - =L ¢50 L=72m

WAKEBESET 620—50 92

ZoOMmKE T —X
T % % =
T = 81 4 5 KEV—ERELZ—




R DONFIT 2 HIH

2w & 5 5041000268 T HFE R JK O it ¢ T AFLERH )7 K — W4 AAL
14 4 RS MR B K B ARk L
| KBrps i S AT 1 T 19 0
BHKID
e I I I
A kEmuEE E) M
) | H A 4412H23H
T b1 Sf AF12HA23HM»L Hf 5% 6H30HET
oK & % 83,095,100 [ (5 BLEBITHR 2 I E PiAES 7,554,100 )
T = % b PR R X F 7K LT iy
B K A% 1 $75—200 XIHAILEEE L=37 02m
B K AR 1 »100 BEAKHARYZFL % L=30. 94m
B K AR 1 »40 R ZFLo j@s L=4m
BoAKERE T b40—500 L=459. 36m
BERRE Fe 18 1 6500 L=272. 7Tm
VoA NMARELEARR - ET 9150 L=334. 7m
IRECEARRY - =T 650 L=206. 6m
WMAKEREARTL 6b20—75 4 6 DT
T O fg o= | TOMAHT —3
T = 81 4 5 KEV—ERELZ—




R DONFIT 2 HIH

2o & B 5041000271 TR KB % T2 AFLEK R — B4 AAL
14 4 JEGRET 6 TIED B K E ek L5
T kit e 7 90— 1
BHKID
(N I N | o
A R R A
) | H A A4412H27H
T b1 Sf AF12A27HMMS Sf 5% 6H30HET
oK & % 50,744,100 [ (9 BLEBICHR D I E PiAESS 4,613,100 1)
T %= &% PR 7E X ERET 6 T 1EH
ALK E A% 1 $150—300 &7 HA/LEEk L=209. 03m
BoKE R E T »150—300 L=190.
R - BT ¢ 50 L=1, 032. 4m
WMAKEREARTL »20—50 7 T
Z DA T —=
T F # =
T = 81 4 5 KEV—ERELZ—
i £




R DONFIT 2 HIH

2o & B 5042000134 THAER | a2 FEE | AMLEK R — B4 AAL
14 4 RACAVER R E N TR EA R LR S (4 —4)
% KIRRFRB T KA 2 TH 6 F 45 AT EL
BRI
L I e R AR
A REDEEEEE B R
) 9 H AF O 4412H22H
T b1 Sf AF12A22Hm Sf 64 3H22HFET
oK & % 8,096,000 ] (5 BLEBIZIR D IHEFIESE 736, 000 )
T %= &% BT X L FEED 2 2T
(XL, EXER, mKEes171)
REHEREE L —3
WA EES () —X
LR A S —3k
PR T — =
T = # =
T F 4 @ KB R
i £




